

7. Let  $u = x^2$ . Then  $du = 2x dx$  and  $x dx = \frac{1}{2} du$ , so  $\int x \sin(x^2) dx = \int \sin u (\frac{1}{2} du) = -\frac{1}{2} \cos u + C = -\frac{1}{2} \cos(x^2) + C$ .
11. Let  $u = 2x + x^2$ . Then  $du = (2 + 2x) dx = 2(1 + x) dx$  and  $(x + 1) dx = \frac{1}{2} du$ , so
- $$\int (x + 1) \sqrt{2x + x^2} dx = \int \sqrt{u} (\frac{1}{2} du) = \frac{1}{2} \frac{u^{3/2}}{3/2} + C = \frac{1}{3} (2x + x^2)^{3/2} + C.$$
- Or: Let  $u = \sqrt{2x + x^2}$ . Then  $u^2 = 2x + x^2 \Rightarrow 2u du = (2 + 2x) dx \Rightarrow u du = (1 + x) dx$ , so
- $$\int (x + 1) \sqrt{2x + x^2} dx = \int u \cdot u du = \int u^2 du = \frac{1}{3} u^3 + C = \frac{1}{3} (2x + x^2)^{3/2} + C.$$
15. Let  $u = \pi t$ . Then  $du = \pi dt$  and  $dt = \frac{1}{\pi} du$ , so  $\int \sin \pi t dt = \int \sin u (\frac{1}{\pi} du) = \frac{1}{\pi} (-\cos u) + C = -\frac{1}{\pi} \cos \pi t + C$ .
19. Let  $u = \ln x$ . Then  $du = \frac{dx}{x}$ , so  $\int \frac{(\ln x)^2}{x} dx = \int u^2 du = \frac{1}{3} u^3 + C = \frac{1}{3} (\ln x)^3 + C$ .
23. Let  $u = \sin \theta$ . Then  $du = \cos \theta d\theta$ , so  $\int \cos \theta \sin^6 \theta d\theta = \int u^6 du = \frac{1}{7} u^7 + C = \frac{1}{7} \sin^7 \theta + C$ .
27. Let  $u = 1 + z^3$ . Then  $du = 3z^2 dz$  and  $z^2 dz = \frac{1}{3} du$ , so
- $$\int \frac{z^2}{\sqrt[3]{1 + z^3}} dz = \int u^{-1/3} (\frac{1}{3} du) = \frac{1}{3} \cdot \frac{3}{2} u^{2/3} + C = \frac{1}{2} (1 + z^3)^{2/3} + C.$$
31. Let  $u = \sin x$ . Then  $du = \cos x dx$ , so  $\int \frac{\cos x}{\sin^2 x} dx = \int \frac{1}{u^2} du = \int u^{-2} du = \frac{u^{-1}}{-1} + C = -\frac{1}{u} + C = -\frac{1}{\sin x} + C$   
[or  $-\csc x + C$ ].
35.  $\int \frac{\sin 2x}{1 + \cos^2 x} dx = 2 \int \frac{\sin x \cos x}{1 + \cos^2 x} dx = 2I$ . Let  $u = \cos x$ . Then  $du = -\sin x dx$ , so
- $$2I = -2 \int \frac{u du}{1 + u^2} = -2 \cdot \frac{1}{2} \ln(1 + u^2) + C = -\ln(1 + u^2) + C = -\ln(1 + \cos^2 x) + C.$$
- Or: Let  $u = 1 + \cos^2 x$ .
39. Let  $u = \sec x$ . Then  $du = \sec x \tan x dx$ , so
- $$\int \sec^3 x \tan x dx = \int \sec^2 x (\sec x \tan x) dx = \int u^2 du = \frac{1}{3} u^3 + C = \frac{1}{3} \sec^3 x + C.$$
43. Let  $u = 1 + x^2$ . Then  $du = 2x dx$ , so
- $$\begin{aligned} \int \frac{1 + x}{1 + x^2} dx &= \int \frac{1}{1 + x^2} dx + \int \frac{x}{1 + x^2} dx = \tan^{-1} x + \int \frac{\frac{1}{2} du}{u} = \tan^{-1} x + \frac{1}{2} \ln|u| + C \\ &= \tan^{-1} x + \frac{1}{2} \ln|1 + x^2| + C = \tan^{-1} x + \frac{1}{2} \ln(1 + x^2) + C \quad [\text{since } 1 + x^2 > 0]. \end{aligned}$$
51. Let  $u = x - 1$ , so  $du = dx$ . When  $x = 0$ ,  $u = -1$ ; when  $x = 2$ ,  $u = 1$ . Thus,  $\int_0^2 (x - 1)^{25} dx = \int_{-1}^1 u^{25} du = 0$  by Theorem 7(b), since  $f(u) = u^{25}$  is an odd function.

55. Let  $u = t/4$ , so  $du = \frac{1}{4} dt$ . When  $t = 0$ ,  $u = 0$ ; when  $t = \pi$ ,  $u = \pi/4$ . Thus,

$$\int_0^\pi \sec^2(t/4) dt = \int_0^{\pi/4} \sec^2 u (4 du) = 4[\tan u]_0^{\pi/4} = 4(\tan \frac{\pi}{4} - \tan 0) = 4(1 - 0) = 4.$$

59. Let  $u = 1/x$ , so  $du = -1/x^2 dx$ . When  $x = 1$ ,  $u = 1$ ; when  $x = 2$ ,  $u = \frac{1}{2}$ . Thus,

$$\int_1^2 \frac{e^{1/x}}{x^2} dx = \int_1^{1/2} e^u (-du) = -[e^u]_1^{1/2} = -(e^{1/2} - e) = e - \sqrt{e}.$$

63. Let  $u = x^2 + a^2$ , so  $du = 2x dx$  and  $x dx = \frac{1}{2} du$ . When  $x = 0$ ,  $u = a^2$ ; when  $x = a$ ,  $u = 2a^2$ . Thus,

$$\int_0^a x \sqrt{x^2 + a^2} dx = \int_{a^2}^{2a^2} u^{1/2} (\frac{1}{2} du) = \frac{1}{2} \left[ \frac{2}{3} u^{3/2} \right]_{a^2}^{2a^2} = \left[ \frac{1}{3} u^{3/2} \right]_{a^2}^{2a^2} = \frac{1}{3} [(2a^2)^{3/2} - (a^2)^{3/2}] = \frac{1}{3} (2\sqrt{2} - 1) a^3$$

67. Let  $u = \ln x$ , so  $du = \frac{dx}{x}$ . When  $x = e$ ,  $u = 1$ ; when  $x = e^4$ ,  $u = 4$ . Thus,

$$\int_e^{e^4} \frac{dx}{x \sqrt{\ln x}} = \int_1^4 u^{-1/2} du = 2[u^{1/2}]_1^4 = 2(2 - 1) = 2.$$